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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 15 rFkk iz'u 36 gSaA  

 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 36 questions. 

•••• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk /iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 

dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 

lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA 

 (ii) bl iz'u-i= esa dqy 36 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % ^v*] ^c*] ^l* ^v*] ^c*] ^l* ^v*] ^c*] ^l* ^v*] ^c*] ^l* rFkk ^n*^n*^n*^n* esa foHkDr gSaA 

 (iii) [k.M ^v*[k.M ^v*[k.M ^v*[k.M ^v* esa iz'u la[;k 1 ls 24 rd oLrqfu"B iz'u gSaA funsZ'kkuqlkj bu iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 1 vad dk gSA 

 (iv) [k.M ^c*[k.M ^c*[k.M ^c*[k.M ^c* esa iz'u la[;k 25 ls 30 rd vfry?kq mÙkjh; iz'u gSaA izR;sd iz'u 2 vadksa dk gSA 

 (v) [k.M ^l*[k.M ^l*[k.M ^l*[k.M ^l* esa iz'u la[;k 31 ls 34 rd y?kq mÙkjh; iz'u gSaA izR;sd iz'u 3 vadksa dk gSA 

 (vi) [k.M ^n*[k.M ^n*[k.M ^n*[k.M ^n* esa iz'u la[;k 35 rFkk 36 nh?kZ mÙkjh; iz'u gSaA izR;sd iz'u 6 vadksa dk gSA 

 (vii) [k.M ^n* ds nksuksa iz'uksa esa vkUrfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh 

iz'u djuk gSA 
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General Instructions : 

 (i) All questions are compulsory.  

 (ii) This question-paper contains 36 questions which are divided into four 

Sections : 'A', 'B', 'C' and 'D'.  

 (iii) Question Nos. 1 to 24 of Section 'A' are objective type questions. Answer 

these questions as per instructions. Each question carries 1 mark.  

 (iv) Question Nos. 25 to 30 of Section 'B' are very short answer types questions. 

Each question carries 2 marks.  

 (v) Question Nos. 31 to 34 of Section 'C' are short answer type questions. Each 

question carries 3 marks.  

 (vi) Question Nos. 35 & 36 of Section 'D' are long answer type questions. Each 

question carries 6 marks.  

 (vii) Internal choice has been provided in all two questions of Section 'D'. You have 

to attempt only one of the given choice in such questions.    

[[[[k.M & vk.M & vk.M & vk.M & v    
SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    
(Objective Type Questions) 

uksV %uksV %uksV %uksV %        fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh mÙkj pqfu, % 

     Choose the correct answer of the following multiple choice questions :        

1. bY;qflu bafMdk dk lkekU; uke gS % 1 

(A) taxyh pkSykbZ (B) dksnks 

(C) nwc  (D) cFkqvk 
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Common name of Eleusine indica is : 

(A) Jungli Chaulai  

(B) Kodo 

(C) Doob  

(D) Bathua 

2. fuEufyf[kr esa ls dkSu&ls [kjirokj jch Qly dh lfCt;ksa esa ik, tkrs gSa \ 1 

(A) flVSfj;k XykÅdk 

(B) ,ftjsVe dksfutkWbMl 

(C) ,ukxSfyl vkjosfUll  

(D) Vªkb,fUFkek iksVwZySdsLVªe 

Which of the following weed is found among the Rabi crop of vegetables ? 

(A) Setaria glauca  

(B) Ageratum conyzoides 

(C) Anagallis arvensis  

(D) Trianthema portulacastrum 
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3. 'kkduk'kh ¶ywDyksjkfyu dk O;kolkf;d uke D;k gS \ 1 

(A) yklks   

(B) cklkfyu 

(C) jksaLVkj   

(D) /kkuqVki 

What is the trade name of a herbicide Fluchloralin ? 

(A) Lasso  

(B) Basalin 

(C) Ronstar  

(D) Dhanutop 

4. fuEufyf[kr esa ls fdlesa dqy o/kZu vof/k ¼fnu½ vf/kdre gS \ 1 

(A) eDdk   

(B) dsyk 

(C) iÙkkxksHkh  

(D) dikl 
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Which of the following have maximum total growing period (days) ? 

(A) Maize  

(B) Banana 

(C) Cabbage  

(D) Cotton 

5. fuEufyf[kr esa ls dkSu&lh Ýsap chu dh fdLe gS \ 1 

(A) Qsfl;ksyl oqYxkfjl  

(B) czSfldk vksysjSfl;k dSfiVkVk 

(C) lksysue V~;wcjksle  

(D) dSfIlde ,lih 

Which of the following is a variety of French bean ? 

(A) Phaseolus vulgaris  

(B) Brassica oleracea capitata 

(C) Solanum tuberosum  

(D) Capsicum sp 



 ( 7 ) 5529 

5529   P. T. O. 

6. fuEufyf[kr esa ls fdlesa Nsnus vkSj pwlus okys ekmFk ikVZ~l gksrs gSa \ 1 

(A) ePNj   

(B) cx 

(C) (A) vkSj (B) nksuksa  

(D) e/kqeD[kh 

In which of the following mouth parts are of piercing and sucking type ? 

(A) Mosquito  

(B) Bug 

(C) Both (A) & (B)  

(D) Honey bee 

7. fFkzIl fdl Qly dk dhV thouk'kh gS \ 1 

(A) I;kt   

(B) fepZ 

(C) f'keyk fepZ  

(D) ;s lHkh 
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Thrips is an insect pest of which crop ? 

(A) Onion  

(B) Mirch 

(C) Shimla Mirch  

(D) All of these 

8. fuEufyf[kr esa ls dkSu&lk ekSf[kd lapkj ¼dE;qfuds'ku½ dk ,d mnkgj.k gS \ 1 

(A) lekpkj&i=  

(B) ysVj ¼fpëh½ 

(C) Qksu dkWy  

(D) bZ&esy 

Which of the following is an example of oral communication ? 

(A) Newspaper  

(B) Letter 

(C) Phone call  

(D) E-mail 
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9. dksbZ pht dks fQj ls djus ds fy, vki fdl ^dh* dk iz;ksx djrs gSa \ 1 

(A) Ctrl + Z  

(B) Ctrl + Y 

(C) Ctrl + C  

(D) Ctrl + X 

What key do you use to redo something ? 

(A) Ctrl + Z  

(B) Ctrl + Y 

(C) Ctrl + C  

(D) Ctrl + X 

10. lrr fodkl ds y{; ¼xksy½ fdl laxBu us cuk, gSa \ 1 

(A) ;wukbVsM us'kUl  

(B) yhx vkWQ us'kUl 

(C) ;wuhlsQ  

(D) fo'o LokLF; laxBu ¼MCY;w ,p vks½ 
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Which organization has made the sustainable development goals ? 

(A) United Nations  

(B) League of Nations 

(C) UNICEF  

(D) World Health Organization (WHO) 

uksV %uksV %uksV %uksV %  fuEufyf[kr iz'uksa ds mÙkj ,d&nks,d&nks,d&nks,d&nks 'kCn@okD; esa nhft, % 

  Answer the following questions in one-two words/sentence : 

11. dE;qfuds'ku 'kCn fdl ySfVu 'kCn ls fy;k x;k gS \ 1 

The word 'communication' comes from which Latin word ? 

12. vkyw dk egÙoiw.kZ o`f) voLFkk dkSu&lk gS \ 1 

What is the important stage of growth of Potato ? 

13. flapkbZ fdls dgrs gSa \ 1 

What is Irrigation ? 

14. flVªl ¼[kês½ esa nSfud ikuh dh t:jr D;k gS \ 1 

What is the daily water need of citrus ? 
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15. ikuh dh {kkjh;rk dk dkj.k D;k gksrk gS \ 1 

What is the cause of alkalinity of water ? 

16. tksf[ke dks ifjHkkf"kr dhft,A 1 

Define Hazard. 

17. jhfiax fdls dgrs gSa \ 1 

What is reaping ? 

18. Qyksa esa jax mipkj ds fy, fdl jlk;u ¼dsfedy½ dk iz;ksx fd;k tkrk gS \ 1 

Which chemical is used in color treatment of fruits ? 

19. IPM dks foLrkfjr dhft,A 1 

Write full form of IPM. 

20. fHkaMh dh lkekU; chekjh ¼jksx½ dkSu&lh gksrh gS \ 1 

Which is the common disease of lady finger ? 

uksV %uksV %uksV %uksV %  fuEufyf[kr iz'uksa ds fjDr LFkkuksa dh iwfrZ mfpr 'kCnksa }kjk dhft, % 

  Fill in the blanks by appropriate words of the following questions : 
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21. fVM~Ms ds eq¡g ds Hkkx ------------ rjg ds gksrs gSaA 1 

…………. type of mouth parts are present in grasshopper. 

22. iFkjpêk dk oSKkfud uke --------------- gSA 1 

The scientific name of Patharchatta is ……………. . 

23. [kjirokjuk'kh eSfpVh dk jklk;fud ¼dsfedy½ uke ------------- gSA 1 

The chemical name of weedicide Machete is …………… . 

24. ew¡xQyh dh dqy xzksbax vof/k ------------ fnu gksrh gSA 1 

Total growing period of groundnut is ………….. days. 

[k.M & c[k.M & c[k.M & c[k.M & c    

SECTION – B 

¼¼¼¼vfry?kq mÙkjh;vfry?kq mÙkjh;vfry?kq mÙkjh;vfry?kq mÙkjh;    iz'u½iz'u½iz'u½iz'u½    

(Very Short Answer Type Questions) 

25. Qyksa vkSj lfCt;ksa ds fy, ifjiDork lwpdkad dk D;k egÙo gS \ 2 

What is the importance of maturity index for fruits and vegetables ? 
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26. iwoZ&'khryhdj.k izfØ;k dk Qy vkSj lfCt;ksa ds mRikn ds fy, D;k ykHk gSa \ 2 

What are the benefits of process of pre-cooling for produce of fruits & 

vegetables ? 

27. [ksr nq?kZVuk dks jksdus ds fy, dkSu&ls mik; lgk;d gks ldrs gSa \ 2 

What measures can be helpful to prevent field accidents ? 

28. dhVuk'kdksa dk mi;ksx djrs le; D;k /;ku esa j[kuk pkfg, \ 2 

What should be kept in mind while using insecticides ? 

29. VekVj ds fofHkUu dhV isLV ds uke fyf[k,A 2 

Write the various insect pest of Tomato. 

30. [kjirokj dks fu;a=.k djus esa Qly pØ.k dh D;k Hkwfedk gS \ 2 

What is the role of crop rotation to control weeds ? 

[k.M & l[k.M & l[k.M & l[k.M & l    

SECTION – C 

¼¼¼¼y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u½½½½    

(Short Answer Type Questions) 

31. Qyksa vkSj lfCt;ksa dks /kksus ds D;k ykHk vkSj gkfu;k¡ gksrh gSa \ 3 

What are the advantages and disadvantages of washing of fruits & vegetables ? 
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32. Qy vkSj lfCt;ksa dh iSfdax ds D;k ykHk gksrs gSa \ 3 

What are the benefits of packing of fruits and vegetables ? 

33. izkÑfrd [krjksa dk o.kZu dhft,A 3 

Describe natural hazards. 

34. [kjirokjksa ls gkfu;k¡ D;k gksrh gSa \ 3 

What are the disadvantages of weeds ? 

[k.M & n[k.M & n[k.M & n[k.M & n    

SECTION – D 

¼¼¼¼nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u½½½½    

(Long Answer Type Questions)    

35. lrr fodkl esa f'k{kk ds egÙo dk o.kZu dhft,A 6 

Explain the importance of Education towards sustainable development. 

vFkokvFkokvFkokvFkok    

OR 

ge vius i;kZoj.k ds izfr fdl izdkj ftEesnkj cu ldrs gSa \ 

How can we become responsible about our own environment ? 
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36. lw{e flapkbZ fdls dgrs gSa \ blds ykHk fyf[k,A 6 

What is Micro-irrigation ? Write down its advantages. 

vFkokvFkokvFkokvFkok    

OR 

Qly esa ikuh dh t:jrksa ij tyok;q ds eq[; dkjdksa ds izHkko dk o.kZu dhft,A 

Describe the effect of major climate factors on crop water needs. 

S 

 


